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T& A% 8, G B 710 777 & 57 5% & @ 55 & @weC F9 g7 §
for 5% 3 i 3% & 791 @ve D 7 3 w77 § 575 7w & arg 57w F |

(iii)  FIF T 7 [aHeY (SR Fewy) Fycied 787 & | ot o, 2 37T I vF
777 4, 3 %] A1 T T9T H AN 5 A a1 @ 7§ el a9-feey fu
T & | 0F Fvl 7 [aEneff s #9ct v & ey @71 3w oA 8

(v) & o AR &, Y T7 G FIRG TF-GR 79 79T wY F 7@
&/

General Instructions :

(i) All questions are compulsory.

(it)  This question paper eonsists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of two
marks each, Section C is of 9 questions of three marks each and Section D
is of 3 questions of five marks each.

(i) There is no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 8 marks and two questions of
5 marks weightage. A student has to attempt only one of the alternatives
in such questions.

(iv) Wherever necessary, the diagrams drawn should be neat and properly
labelled.

WUs A
SECTION A

1. o9 Ol jed R R owh A 2 2 3 e s s ue o
ArETEharAl 6 fhg R gfd F@ F 2 :

What is a detritus food chain made up of ? How do they meet their energy
and nutritional requirements ?

1
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Vz./ e w2 meEE 3 EEE T R W A NarE F o0 A 6 a9
gl 7 1

Why are green algae not likely to be found in the deepest strata of the
ocean ?

3./ 3% dfmem ik 39 v @ valt % am wane fed we e i @ ofafifa
B U 341 Siiagr] &9 FE 2 | 1

Name the phenomenon and one bird where the female gamete directly
develops into a new organism.

\/ TEn %a Fia1 @ 59 wEE Wi § vfeefads (WaRs) et 89 2 od
22 1

When does a human body elicit an anamnestic response ?

5./ @ A A i % Tm Refa R wR W Refd e R AR 2 7
Name any two diseases the ‘Himgiri’ variety of wheat is resistant to.
¢ o Wt i mRNA & e § g 6 g
: State the role of transposons in silencing of mRNA in eukaryotic cells.
@- frafafga gro fa-fam ver 6 Sa-ffaom vfeiia @9 8, m fafar . 0 7
‘() WA H 3w $ 1000 FE 0
Gi) Temrew % fafim &1 9 90 @ daifesw aifeiftar A Wi 6 sRigsm

91 Figw % ey U FM aeh fafisEnd )
Name the type of biodiversity represented by the following :
(1) 1000 varieties of mangoes in India. .

(ii) Variations in terms of potency and concentration of reserpine in
Rauwolfia vomitoria growing in different regions of Himalayas.

e W (fet i) & o e e & fo e e
IHE 1 TR #9414 A8 2 1

Why is the use of unleaded petrol recommended for motor vehicles
equipped with catalytic converters ?
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T = B
SECTION B

“gg dva ? % +E ol v% # wiwa § ol o € v W w8 s
TS0 T WTH T 2 @1 Sl # |7 U g ) SRl § Sy |

“It is possible that a species may occupy more than one trophic level in
Wb&m at the same time.” Explain with the help of one
mple. = K

“Tacsta wanfa” wmeavl @ @ Ay 2 2 el o v 9 6 o el o
uit 61 wsife @1 9w fafer S 2o oo wnde Swand warfaat % fow
F R

What is meant by “alien species” invasion ? Name one plant and one
animal alien species that are a threat to our Indian native species.

e s yar 5 R ddiiae Fifte % e Jiea DNA S8 #
T HA § e $ TH e $ IR il fafee

Write any four ways used to introduce a desired DNA segment into a
baeterial cell in recombinant technology experiments.

WEgeH 1 98 A F4 fom T 2 $gion 3eE R vER fmad R 2
Why is proinsulin sacslled ? How is inkilin GICHEE from it 7

AT % U T FHPGME b Wil 98 < FIEHA 7 A TR0 |
Differentiate between the two cells enclosed in a mature male
gametophyte of an angiosperm.

wH U g F fREE T el o 9w 5% w39 gaoamw =
FEY F1 2 | 35 YHR & FHe F1 W fafEn |

Work out a cross to find the genotype of a tall pea plant. Name the type of
CTOSS.

gedl W Al & I & fawa § afE v wesa B aheeen fafew
Tew1-fie favem B =33 sfisesn w1 fon v ouda e 2 2

2

Write the Oparin and Haldane’s hypothesis about the origin of life on o'

Earth. How does meteorite analysis favour this hypothesis ?
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16/ wHa wR F i ww Bl 01 % A B w3 S0 9@ 2, @ 39 WR

/r Fn-#n g 2 #, farfige | 2
HAyar
& F4 forefl gem % =g =aft wdl Fewe ™ A W wOE W v A, @@
wfaenfas (feifeea) 1 sowea =61 o S 8 2
rite the events that take place when a vaccine for any disease is
introduced into the human body.

OR
Why is a person with cuts and bruises following an accident administered
tetanus antitoxin ? Give reasons.

17, “fem v $ fim Ra3 gua i @ o faEm (IFfEm) = am
} et I mgnEi s TR s s 2 ? 2
Name the bacterium responsible for the large holes seen in “Swiss

Cheese”. What are these holes due to 7

18. /PCR T+ ¥ S99 f6u 914 9 DNA dicimis % @@ &1 9| fofae |

// EaTEU 3H1 39N F491 T Smar 2 2
Name the source of the DNA polymerase used in PCR technique. Mention
why it is used. £

w|vE C
SECTIONC
A?/{a) e M % SFHENS AEEEY % YR % &9 8 DNA 98eYal &
o 3 TmEm |
(b) DNA f&mfifén # VNTR i sfie sa5e | ' 3
¢ ﬁ Explain DNA polymorphism as the basis of genetic mapping of
; human genome.

{b} State the role of VNTR in DNA fingerprinting.
vae ¥ AR IRE we § w5 fio diefa (duee wEl ae)
vl 1 Fe 4 3fg o e d, man | "3
Explain the increase in the numbers of melanic (dark winged) moths in
the urban areas of post-industrialisation period in England.

21. EHFaHa NS () § AR F 5 R Ide e 9 @ 2 e &

el i g e | 3
Describe how biogas is generated from activated sludge. List the
/ components of biogas. . /
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